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e Please check that this question paper contains 27 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36+36+15 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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CHUNR]
COMMERCE

((i) FIUTST &k O RefRa gag : 3 592 3fehaq 37 & 90

Elements of Business Time allowed : 3 hours Maximum Marks : 90

EHL RS <(ii) TEETAT AAT G TR h a*T eiRa @g : 3 g9 S7feHaq 37 90
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1. [efcifeaa 7 @ #i5 v @97 forar i gehar & -
G) T & T

(ii)  SFIGIAT YT AGTHT & T
(iii) F-YPI9T 0F F-HIIcT
Note :

1. Any one of the following areas can be offered :
(i) Elements of Business
(it)  Elements of Book-Keeping and Accountancy
(iii))  e-Publishing and e-Office

(i) aTUTT & a=

(i) Elements of Business
T 4397 :
() FHYTH FAT36 Fo7 8 |
(i)  @HIeT AT & |
(iii) ¥A-8CI 1 & 16 T%F TFEHHT J97 & 5 T4 T 37 & & | 157 T
fasedl 4 @ @8t fashey &) FT-Yleasr 7 forar 8 |

(iv) Yo7-&I71 17 G 26 % 9% J97 3 bl &7 &8 | 57 o4 & I 70 Ieg]
(I3%) @ 37fer 737 87 =izT |

(v) TH-G&IT 27 T 32 TF Yo9% 97 4 371 &7 & | 37 Fo91 & I 100 g
(I39%) & 37fer 77 81 =nizT |

(vi) YIT-GEIT 83 & 86 TF I9% Y97 5 3Hhl &1 & | 37 Jo41 & I 150 Iisql
(II%F) @ 31 T8 54 T |

(vii) TP 57 & YT 97T 0H-T19 51 7 B |

General Instructions :
() This part has 36 questions in all.

(it)  All questions are compulsory.

35 2



(iti) Questions from serial no. 1 to 16 are Multiple Choice Questions carrying
one mark each. These are to be answered by writing the correct option in
your answer-book.

(iv) Questions from serial no. 17 to 26 carry 3 marks each. Answers to such
questions should not exceed 70 words each.

(v) Questions from serial no. 27 to 32 carry 4 marks each. Answers to such
questions should not exceed 100 words each.

(vi)  Questions from serial no. 33 to 36 carry 5 marks each. Answers to such
questions should not exceed 150 words each.

(vii) Attempt all parts of a question together.

1.  UH Yoi@, S shdl ol giad ol & b o ffeaa ufy 3ok @ o 5o = @

TS 7, el & 1
INESLIRCE]

(B) WU

(C) STk

O f@

A document, which informs the buyer that his account has been credited
with a particular amount, is called

(A) Credit note
(B)  Debit note
(C) Invoice

(D)  Quotation

2. TR H T gH W {Ishal FWHE 9199 o GehdT B 1
(A) 3R fosRa 1
(B) Torva rgrrft syaen §
(C)  fortr s sgazen o
(D) wefid
In case of default in payment, the seller can repossess the goods in
(A) Credit sale
(B) Instalment payment system

(C)  Hire purchase system
(D)  All of these

35 3 P.T.O.



fafaer < @y 9 g I arelt 3ftm iy wEad! 3

(A)  IIRfT o
(B) o U
(C) Torua

(D) T W hIs A=

An advance money required to be deposited with tender is called
(A)  Reserve price

(B) Earnest money

(C) Instalment

(D) None of these

g |l TfafafeRy S agett & Yarg @ IcuTesk ° UTEs sl 3R S
8, ofid Il 8

@A) TR
(B) YTdH %
©) fomma *
D) fopg s

All the activities directed towards the flow of goods from the producer to
the consumer are part of

(A) Transportation
(B) Payment

(C)  Advertisement
(D)  Selling

g 1 3 87 I 7@ =+ @
(A) afesat

B) ®d

(C) pH

(D) I o

We purchase the following by inspection :
(A) Vegetables

(B)  Fruits

(C)  Shirt

(D)  All of these



35

e T Pkt SR Hi/h ISR /2 1
A) Taurfia wer

(B) H@dEg g (HER)
(€) W &R
D) I ot

Example(s) of large scale retail trade is/are
(A)  Departmental store

(B)  Multiple stores

(C)  Super bazar

(D)  All of these

YA 1 9 I T TgHH WSR, Tal ¢-eh TETIhal ohl I&V Th gl
B S A FA R e £ .
4) YR IR

(B) @G ghH (HER)

(C) ST gRI SR

(D) TEETfed fasea msfia

Large scale cooperative store of the consumers where daily-use goods are
available under one roof, is called

(A)  Super bazar

(B)  Chain stores

(C)  Mail order house

(D)  Automatic vending machine

ST T e gC foAT 3 o fohar e 2 1
(A) " H
(B) faurf yer d

(C) ST gRI ¥R |

(D) QTG gl (WeSW) |

Buying and selling takes place without any face-to-face contact in
(A) Mall

(B)  Departmental store

(C)  Mail order house

(D)  Chain stores

5 P.T.O.



10.

11.

35

HIRIL I [ ATALIH & A(G WA 1 A [ohAT ST &

A) et ofc

(B)  ATATET =R 4

) forelt fayrfir wer #

(D) *TEAEgG g (HeW) |

Knowledge of computers is required if goods are bought

(A) in amall

(B)  through online shopping
(C) in a departmental store
(D)  in chain stores

WY IYTTFATST bl FTHE =T hadTdl o
(A) o IR

(B) $deh{ M
(C) AT
(D) Tfa

Selling directly to consumers is called
(A)  Wholesale trade

(B)  Retalil trade

(C) Import

(D) Export

forRITIe & SoieReiTeh HIEaW T 37TaT 2
(A) TR

(B) HARRYT
(C) dTEl § g
(D) 3R

Electronic media of advertising includes
(A)  Poster

(B) Newspaper

(C)  Vehicular display

(D) Internet



12.

13.

14.

35

g TUAT 1 fIawor weh Ared 3
Q) Tasa gada #1

(B)  forso =

(C) AfFaTd fasha w1

(D) T9H ¥ IS &l

Distribution of free samples is a tool of
(A) Sales promotion

(B)  Advertisement

(C)  Personal selling

(D)  None of these

3CUTE o TEqThul 3R 3ok fafime &l 9 IUAFAIsT &I Ugehi i Tuzm
% foTu foshar Tada =1 ge@ Iugea alist 3

(A)  <har ° it

(B) W AT Ui

(C) AT AT i §e

(D) I ot s

To present and explain the special features and uses of a product to

consumers the best method of sales promotion is
(A)  Price reduction

(B)  Fairs and exhibitions

(C)  Quantity discount

(D)  Exchange offer

o foshal o1 g 3239 7

(A)  TTEhI oh Sia T ohl SQHT
(B)  UTEhI ol TEY §MT

(C)  UTEhI ! T H HIA Y5
(D) fersha sgmT

The main objective of personal selling is

(A) toraise the standard of living of consumers
(B) to make consumers healthy

(C)  tosend the goods to consumers’ doorsteps
(D) toincrease sales

7 P.T.O.



15.

16.

17.

18.

35

Teh AfIfId saferd o foru foqmaa <1 9o 37=a71 A1e9H 3

(A)
(B)
(©)
D)

The best medium of advertisement for an illiterate person is

(A)
(B)
(C)
(D)

frfafga 4 @ S fogmom i forivar 727 2 2

(A)
(B)
(©
D)

Which of the following is not a feature of advertising ?

(A)
(B)
()
(D)

IUTER-I
LSIIEEES
TS
et

Newspaper
Television
Magazine

Poster

TSI (THT-aX) T ST 9g= T BT
orelt Teem & g awivo
T ST TR T

YA hich [ohaT S ATl TEISOT

Identified sponsor
Communication through some media
Personal presentation of message

Paid form of communication

Y <kl feregl o9 g™l s 9™ 9d1su |

Name any three methods of purchase.

ffaer (=) gro fosht 6 6 It 8 2

How are goods sold through tender ?



19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

35

ha 3R forsh & 3779 o7 gwed § 2

What do you understand by purchase and sale ?

foptr s ugla o= 8 2

What is Hire purchase system ?

TaaTterd fosha wefia g fosha g aTelt fohedl ©: a&getl & 3gretvl T |
Give any six examples of the products which are sold through automatic
vending machine.

‘T2 AU o Pt AR i TRITNT HIT 3R g g T80T T |

Define ‘large scale retail trade’ and give any two examples.

TSI & ST I |HEd § 2
What do you understand by Teleshopping ?

<Teh g1 SATIR <hl hig 9 fIRIvdmd qrsu |

State any three features of Mail order house.

forshar wae Sl feopegil g1 dehriehl sl W&IT T THZST |
Briefly explain any two techniques of sales promotion.

fostTo 1 o= 319 @ 2 sHehl famivamd sqrEu |

What is the meaning of advertisement ? State its features.

ARG o 91699 9 foqmaa & = oy i Himm| @ 2

What are the advantages and limitations of advertising through

newspapers ?

Jefcheh Toshd oRIT 2 ? STHIGATSTT ohl GfSe & $eh o*I1 A9 & ?

What is personal selling ? What are its advantages from the consumers’
point of view ?

9 P.T.O.



29.

30.

31.

32.

33.

34.

35.

36.

35

EEREIRCIFRAR FAGE IR EIE

Explain any two methods of selling.

o o 0

frfalRga =1 9=

) TH1 9 (shige A
(37) (

(@) =\ (Sfee Tr)
Explain the following :
(a)  Credit note

(b)  Debit note

I ST F91 BId 8 ? 39 991 @19 & 2
What are Super bazars ? What are their advantages ?

FSTIC WU & 379 o1 THSAd & 2 $Hehl &1 T 8 2

What do you understand by Internet shopping ? What are its limitations ?

FEG3T h T BT T YTAM hl - T TGl & ? THST |
What are the various modes for making payment on the purchase of a
product ? Explain.

fauria Wer 3R sJEaEg gHHl (YSRI) % ¥ 3R T ST |

Differentiate between departmental store and chain stores.

Taera gaed 1 gftafya hifve | 59 18 Idq8T |

Define sales promotion. State its importance.

Sfereh Torshd ® A Tashaehdl o T[0T SaTsy |

State the qualities of the salesman engaged in personal selling.

10



(ii) TEETAT AAT AE TR o a
(ii) Elements of Book-Keeping and Accountancy

HTHT ﬁéfw :
(i) 5T YTH FT36 TG |
i) @t yeT sfAard & |
(i) ¥o7-geq 1 & 18 T% FEIEHeHT J97 & 5 Jd% T 37 & & | 157 T

faseql 4 @ @8t fashey &) FT-Yleasr 4 forar 8 |
(iv) TP J97 & G 9777 TH-TG19 &1 #H & /

General Instructions :
(i) This part has 36 questions in all.
(it)  All questions are compulsory.

(iti) Questions from serial no. 1 to 18 are Multiple Choice Questions carrying
one mark each. These are to be answered by writing the correct option in
your answer-book.

(iv) Attempt all parts of a question together.

1. <3 foa =1 fe@rn Smom 1
(A) T 99 % FUf 98 H
(B)  goi W < gired 9 |
(C) YR @d & Sfee g7 A
(D) Y- WTd % shise 9&1 H

Bills payable will be shown on the

(A)  Asset side of Balance Sheet

(B)  Liability side of Balance Sheet
(C)  Debit side of Profit and Loss A/c
(D) Credit side of Profit and Loss A/c

35 11 P.T.O.



35

e fafama o o f=forfiaa 9er g9 @

(A) 6

B) 4

C) 3

(D) 2

A bill of exchange has the following parties :
(A) 6

(B) 4

) 3

(D) 2

1%rq3r?=|o‘r3+-1|q< ferferiaa <ht Iufeafa o ymifurg fema Sman 2
(4)  srferaht (TedThe)

(B) é’a%

(C)  fag ywTUres (Fiedt ufectsh)

D) gfem

Dishonour of bill is certified in the presence of the following :
(A)  Advocate

(B) Bank

(C)  Notary Public

(D)  Police

Ife Tl fafma o 6t <3 fafs <1 g sEww 3, @ afas <@ oty
Bl

A & e

(B) 37T fad

©) o feq

(D) TH HEN &g HI T& aE

If the due date of a bill of exchange is a public holiday, the actual due
date will be

(A) Same day

(B) Next day

(C)  Preceding day

(D) Same date of the next month

12



35

3G o ° §g X YA 1 Tehal 7 :

(A) S g
(B) =%
(C) S
(D) = foe

It can be discounted with the bank :
(A) Bank draft

(B)  Cheque

(C) Invoice

(D)  Bills receivable

frfciRea # @ forew @ (ymam) hi o1 g 2 2
(A) 3 HH

B) U-z-feam
(C) I 9 (S=H-9)
D) fafFma =

Which of the following contains an order to pay ?
(A) Cash memo

(B) Pay-in-slip

(C)  Promissory note

(D)  Bill of exchange

Teh o 951 o 3 U8 Bld @
(A) T IR fas
(B) W™ 3R g

(C) ufEufEl i eard

(D) <foe 3 shige

Two sides of a Balance Sheet are
(A) Sale and Purchase

(B) Profit and Loss
(C) Assets and Liabilities
(D) Debit and Credit

13
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10.

35

frafafiad @ 9 9-91 1 sl 9 1 2 2
(A) HURa & HT

(B)  daH W YA

(C) T YSiT T

D) g I BT

Which of the following will increase profit ?

(A)  Purchase of an asset
(B) Payment of salary
(C) Introduction of new capital

(D) Discount received

Ioft fers vt 2

(A) e 99 & gufd 9 |

(B) oW 99 & qIfdca 9 o

(C) g @Td % Sfoe 941 ¥

(D) ATH-EIN @Td & shise 9eT |
Capital is shown on the

(A) Asset side of Balance Sheet

(B)  Liability side of Balance Sheet
(C)  Debit side of Profit and Loss A/c
(D)  Credit side of Profit and Loss A/c

T TTH-ZIH QT S3Mal 3
(A) THd AN

(B) P IREHfEt

C) Yg o™

(D) FA QA

A Profit and Loss A/c shows
(A)  Gross profit

(B)  Total assets

(C) Net profit

(D)  Total liabilities
14



11.

12.

35

fortlt @ fafése fafyr W v swaEm i foxa feafa 6t Serl @ g faeo

[

(A)
(B)
(©
D)

g qa‘
SR Gl

dcdyd

AT @t

Statement showing the financial position of a business on a particular

date is

(A) Balance Sheet

(B) Trading A/c

(C) Trial Balance

(D)  Profit and Loss A/c

wsigl fewrs Swt

(A) AY-EIH @rd & Sfee geT |
(B) TH-BIH WTd & shise 9&T |
(C) SIUR @Td < Sfee U&7 |
(D) SUYR @Td o shise &1 |

Wages will be shown in

(A)
(B)
(C)

(D)

Debit side of Profit and Loss A/c
Credit side of Profit and Loss A/c
Debit side of Trading A/c

Credit side of Trading A/c

15
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13.

14.

15.

35

Teh SIIE o IIfdH QTdi | 3MHd @

(A) MR Qrdl

(B) Y- @rar

(©) goH

(D) I T

Final accounts of a business include

(A) Trading A/c

(B)  Profit and Loss A/c

(C)  Balance Sheet

(D)  All of these

ffeiRad ° 9 shia-am 2TlRicd <1 328l & 2
(A)  STER

(B) ®MER

© = faa

(D) I T

Which one of the following is an example of a liability ?
(A) Debtors

(B)  Creditors

(C) Bills receivables

(D)  All of these

31qut fepre B <l gun § @y e g 9 e ®

(A)
(B)
©
D)

AT St + TR — & YSf — TRfeh goit
fm ot — AR + T USf — IRk gt
TRIYeR Yot + TR + Tl goit — Afam goit
TR oI + SR — el GSft — 3Afa gt

In case of incomplete records, profit is calculated as follows :

(A)
(B)
(©
D)

Closing capital + Drawings — New capital — Opening capital
Closing capital — Drawings + New capital — Opening capital
Opening capital + Drawings + New capital — Closing capital

Opening capital + Drawings — New capital — Closing capital

16



16.

17.

18.

35

T GRI STY01 e Tehis W@ T shl HuTaqT e 3

(A) TH Bl GHMGR

(B) Ueh s AT et
(C) U =g faumiia Wer
(D) Uk U HEo]

There is greater possibility of maintenance of incomplete accounting

records by

(A) A small shopkeeper

(B) A big manufacturing company
(C) A big departmental store

(D) A multinational company

st feptd 2R o1 ety et feafe o it e 2

(A)  qe9< grT
(B) g 93 gl

€) Teufa foero (Wi 3% T%ham™) gra

(D) - @ gr

In case of incomplete records, the financial position is shown by

(A) Trial Balance

(B)  Balance Sheet

(C) Statement of Affairs
(D)  Profit and Loss A/c

Ul Fehie # FWT=a: W@ STd 8

(A) e 3R IFheh @d

(B) -3 IR IRE9REl o @

(C) gFamd 3R ISft < @

D) A ad

In incomplete records, generally kept are
(A) Cash and Personal A/c

(B) Income-expense and Assets A/c
(C) Liabilities and Capital A/c

(D)  All of these

17
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19.

20.

21.

22,

23.

24.

25.

26.

35

faffma w3 & g 9 foiwad sarsy | 3

State any three features of bill of exchange.

el (Fe) W Toa i FerdT TohT ST 1 1Y FAHEST | 3
Explain the meaning of retiring of a bill under rebate.
T IREdTEl 3T ST IREdTaal o se Tat T hifT | 3

Distinguish between tangible assets and intangible assets.

TR QAT =1 BT 8 2 I8 &1 SR STl ) 2 3
What is a Trading Account ? Why is it prepared ?

feheal i =iTe] aREafl SR fohegl A =Te] Sl & W sy | 3
Name any three current assets and any three current liabilities.

rfaq @rat § F=faRaa #g =&t et gurtan Smem 2 3
(4) T S e

(B) ®FIfa

(C) BI 3rafYr I (3Tcushiieres) faw

(D) 3w w2l

(E) Aifee &=

Where will the following items be shown in final accounts ?

(A)  Freight and carriage

(B)  Goodwill

(C)  Short-term investment

(D)  Closing stock

(E)  Audit fees

3Tqul Tihie o1 oI 379 B ? 3TqUl fiehie < hig g faRivamd S(aTsy | 3

What is meant by incomplete records ? State any two features of

incomplete records.

o o 3R feufa faawur (Wede o1f% TheTd) o &9 I3 dF faad aase | 3
State any three differences between Balance Sheet and Statement of
Affairs.

18



27.

28.

29.

30.

35

fafma v @ 19 o g 2 2 fofma 93 @61 U T SR |

What do you understand by bill of exchange ? Prepare a specimen of bill

of exchange.

Y H THEST -

(e1) o=t =1 §g W A
(@) e foom
Explain in brief :

(a)  Discounting a bill

(b)  Days of grace

ot foraon | 319 o= guga @ 2 3= o= ST ST @ 2

What do you understand by financial statements ? Why are they

prepared ?

ffefiga 2ATerst O Tehal ATH/ETH <l TTUMAT HIfST

T
IRfYeh Wi 5,000
E 30,000
[EED 40,000
Horeglt 1,500
[EED 750
Ay =i 3,550

Calculate gross profit/loss from the following figures :

<
Opening Stock 5,000
Purchases 30,000
Sales 40,000
Wages 1,500
Sales Return 750
Closing Stock 3,550

19
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31.

32.

33.

35

TR ST @ T S qul fehi TEar 7 2

What are the reasons due to which a businessman keeps incomplete
records ?

BN T8 & @™ i §eit 1 31, 2015 &1 T 50,000 off 3R 31 #€, 2016
W T 48,000 oft | 3T Far T I W HENR T 800 AfeaTd ITINT o fow
aq™ ¥ e | 3FF 9T T 2,000 T ™ R Y HaE™ § o | 35
T o AT/ < TUET HIT |

The capital of Hari Mohan’s business was ¥ 50,000 on 15t April, 2015 and
T 48,000 on 315" March, 2016. He informed that he withdrew ¥ 800 per

month for his personal use from the business. He also paid his income tax

of ¥ 2,000 from the business. Calculate the profit/loss of his business.

o

fiRgd 3Tfehel & 31 AT, 2016 sl AT B T 99 o (T€ AR gl

o

ATH-3IH €rdT §-d15T :

-
i (1-4-2015) 15,000
[EED 2,50,000
ER) 2,00,000
EERY 2,000
ik (31-3-2016) 25,000
CRE| 3,000
ffen sk wemd 1,200
foptrm 2,000
o 800
I T ST T YA 500
= 13,000

20



34.

35

From the following data prepare Trading and Profit and Loss A/c for the

year ending 315¢ March, 2016 :

Stock (1-4-2015)

Sales

Purchases

Wages

Stock (31-3-2016)
Salaries

Printing and Stationery
Rent

Insurance

Interest on loan paid

General expenses

31 femesr, 2016 1 F=faRaa IR @ 3MIR W o 9 §H18T ¢

Tehe 3N sk
=
T
e

TSR
i

e
i (31-12-2016)
Y I g AT

3T

15,000
2,50,000
2,00,000
2,000
25,000
3,000
1,200
2,000
800

500
13,000

T
20,000
6,00,000
3,40,000
1,60,000
4,000
70,000
34,000
1,30,000
1,50,000

P.T.O.



From the following information prepare Balance Sheet as on
315! December, 2016 :

3T
Cash and Bank 20,000
Capital 6,00,000
Building 3,40,000
Debtors 1,60,000
Creditors 4,000
Furniture 70,000
Drawings 34,000
Stock (31-12-2016) 1,30,000
Net profit of the year 1,50,000

35. Qg d@l YUl 1 B 2 98 Tohel i@l gurelt § fory avg fiw @ 2

What is double entry system ? How is it different from single entry
system ?

36. < I FIHM o YU Fehie T@ar 7 | 3Geh feufd fmfafed 7 -
31 femrsw, 2015 31 femwsw, 2016
T T

UFS 200 300
EED 3,000 2,000
wih 20,000 19,000
GER 8,500 14,000
A 3 A=A 15,000 27,000
LTy 1,800 1,500
TER 22,000 29,000

T4 % TRE I8 T 5,000 Hi Al ISt g IR T 750 i W18 Foq™ 9
faerrer | feufa foewor ugfa gro smi/erf 6 o Hifsa |

35 22




35

Deepak maintains incomplete records of his business. His position is as

follows :

Cash

Bank

Stock

Debtors

Plant and Machinery
Furniture

Creditors

31 December, 2015 31 December, 2016

=
200

3,000
20,000
8,500
15,000
1,800

22,000

=
300

2,000
19,000
14,000
27,000

1,500

29,000

During the year, he introduced ¥ 5,000 as further capital and withdrew

T 750 per month from the business. Calculate the profit/loss by statement

of affairs method.
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(iii) 3RV TH -HATAR
(iii) e-Publishing and e-Office

97177?779/%?7:

(i)
(ii)
(iit)
(iv)

(v)

T YT FA15 T & |
Tt 7o SfAarT & |
T7-GEIT1 G 6 T% & J97 G957 DI IR T & R JA% T97 T 37% 7 & |

Jo7-G&IT 7 & 12 TF &% Y97 2 3H F1 8 | 37 I & IH 60 ed!
(I39%) & 37ferF 3 787 517 T1RzT /

Jo7-G&I7 18 & 15 % IF Y97 4 37F &1 & | 37 99 & 3K 100 et
(I9%) & 37fers 3 787 517 TRT /

General Instructions :

(i)
(ii)
(ii1)

(iv)

(v)

35

This part has 15 questions in all.
All questions are compulsory.

Questions from serial no. 1 to 6 are very short answer questions and each
question carries one mark.

Questions from serial no. 7 to 12 carry 2 marks each. Answers to such
questions should not exceed 60 words each.

Questions from serial no. 13 to 15 carry 4 marks each. Answers to such
questions should not exceed 100 words each.

orell Taee sfte § =l i ST o foTg ITidehe Hofl 1 8 2

Which is the short-cut key to insert charts in an Excel sheet ?

gt i fefotfiad g i & o s sen (uedioge) #4003 |
=$G$3+C$3+$D3

Identify which part of the following formula is absolute referenced.
=$G$3+C$3+$D3
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bl 1 IS Teh oY 3 g Th g1 forfaw |

Write any one advantage and any one disadvantage of cookies.

Toret BrRRETE 1 U TR ST & 2 I8 Bead g IT FiFedan ?

How is a Firewall installed ? Is it a hardware or software ?

FRE(A TRl ad @ ?
What is Firewall ?

frrfifiad % R &9 fARaT -

(%) GIT
(@) TIFF

Expand the following :

(a) GIT
(b) TIFF

gty o SNH a1 T3 et 1 said Teiia o o foe @ 3k &7 (ared U
TREAT) 91 § " g3 fohd AT W1 A AT AMMET ? 30 I 1 e

FaTsy |

Which chart should I choose among line and area charts to show the
trend of three different values over a period of time ? Justify your answer.

39 UTH Ueh Tieh TehIterl & S@n for fi= fou wu vt sfie § wefdfa foran
TR | WY C U %I Ied 8 3R WY D ¥ Afaw geur | uftomy =i, afg 3nmg oA
afvia = @ & O @Y E ¥ faRay otk afg 71 @ &t @t @y F o | o7 ot
Tef¥d hIfST | 32 & foiT S8 AAA & foiT 10-4 <1 719 30 F3 H Jef¥id

H =Y |

Stock Volume Buy Last Gain Loss

(EeTeh) (StegH) (5p3) (Afqm) | (safa) | ()
AAA 25 354 45-8 10-4
BBB 53 42-8 37-5
CCC 50 86-1 88
DDD 75 75 69
EEE 100 8 10

25

P.T.O.



10.

11.

12.

13.

35

You have a stock portfolio as shown in the Excel sheet given below. In
column C you have the purchase price and column D the last price. Write
the result in column E if you win money or in column F if you are losing.
Display the difference also. For example, it should display a loss of 10-4
for AAA in F3.

Stock Volume Buy Last Gain Loss
AAA 25 354 45-8 10-4
BBB 53 42-8 37-5
CCC 50 86-1 88
DDD 75 75 69
EEE 100 8 10

GIMP &1 90 &9 &1 g ? GIMP g1 &H{dd fohegi al isad I&ul (Hife)
I 2T |

What is the full form of GIMP ? Give the names of any two file formats
supported by GIMP.

Bfd Rl MG L 91 fohgl 37 FigeaaT skl 3UIT GIMP 1 39INT i <
+1% 3 oy fafaw |

Write any two advantages of using GIMP over other image processing
softwares.

%hd 3TN el o H 3T T HINT |

Differentiate between curves and levels tools.

GIMP # “Teree Taim 9rT o 91 | 989 § T9sT |

Illustrate in brief about “text along path” in GIMP.

off JETE TR % STEATIeh & 3R o T < =/ TR el 1 THEH YEiRid H
@& fU GIMP # te %red fifd o =mgd 2 | Suswr &1 9 faflgu 3k 39kt
el & foIu @uEl (=Ron) o1 it 3g@ S |

Mr. Prasad is a Science teacher and he wants to create a file in GIMP to

illustrate the Earth’s rotation around the Sun. Name the tool and write
down the steps to help him.
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14.

15.
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T H M A T AT GHEATS H IAH g B | AT HH QU HH H IGH

TR IR |

(%) 3uh g 30 foemferRn it 31 afehT (AThsfic) & S Ush dehsfiic § WeRU
HI TS B qAT IW TP B b ekl Dl 2 FIUE 3k ¢ dGHT & | UHT
o ToTe FaHT (ST 1 fafee qifer o7k qeat 1 C3 8 C33 0 |

YSRIT & S |
(@) W 9= fou v qHe & ATER Ty D H U Yehid % § | Ta9 D3 H
forg S o fQ e =1 fafigu | 4
3Tk DS
85 T 100 A
70 W 84 B
55T 69 C
<55 D

Sangeeta has got stuck with problems while working in Excel. Help her
in completing her work.

(a)  She has a marks list of 30 students stored in a worksheet and she
needs to increase them by giving a grace of 2 marks to each

student. Write the steps for doing so, given that marks values are
stored from C3 to C33.

(b) She needs to display the grade as per the given criteria in
column D. Write the statement to be written in D3.

MARKS GRADE
85 TO 100 A
70 TO 84 B
55 TO 69 C
<55 D

fowg-aeg =1 rftnrgw (ide Fwafon) fawasg dea (imafan) @ fea yer
i 3 7 U ISR TRl TR HIFT | 4

How is content capturing different from content authoring ? Explain
giving suitable example.
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